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31 30k 4 15 10 42 105"
32 30k 4 15 10 22 225"
33 30k 4 15 10 02 145"
36 40k 4 15 9 38 337
37 50k 4 15 10 02 297
39 ( 45km 4 15 10 42 05"
76 20k 4 15 10 48 017
79 30k 4 15 10 58 109
84 40km 4 15 10 09 027
85 60k 4 15 6 00 027
86 . 4 15 6 00 117
87 30km 4 15 6 00 137
101 56k 4 15 9 28 107
106 30km 4 14 10 21 0.8 ™




13

2,

2"

2 101 37
23 1.0 2.9
=
85
0.2 5
£ -~ = *
31
105 :
&g A%t
§o1
5511
106

3
24

33
145

76
0.1

39
0.5

32
225

79
109




 HEEREWGHR ))

FlELITHDLR
[250,000¥190Y—A" Wb/ 4E]

(R49RY=~IVF)

— | 250,000 B EAEOBSCROLNTVS LR

[100,000v4908Y—A"JLb/4E]
100’000 < MAHEEBRREERUHKICRDIZR HH
HEEHIZEDHONTWS LR

50,000 |[<— [50,000v4490Y—A" Wb/ £E]

[10,000%450Y—A"ILb/4E] 10,000 [6,900%4 50y —A"Jbb/[E]]

[2,400v490Y—A" Wb/ £E]

[1,000v490y—A" Vb /4E]

[400v4409—A Vb £ ] [600%49AY—A"JV+/[E]]

[200%49RY—A" Wb/ {E1E] [50% 40— Jvt/[E]

[2294509—A" b/ £E] [50v490Y—~ Wb/ 2]

[10v49AY—A" Wb/ £E]

X Sv[V—ARIN]=HGHEDTEFEICKIEYNRDER(CK) X Gy [TLA] X% x5, r#gciE 1

BRIAIILF—TTRFH2002 121 EIXEHFEICE OV TER






